
1

USER MANUAL

THRON + THRON2  ––  CARRIER + FENDER ASSEMBLY Version 1  |  14.06.2022

EN 	 CARRIER AND FENDER ASSEMBLY
DE 	 MONTAGEANLEITUNG GEPÄCKTRÄGER UND SCHUTZBLECHE
FR 	 NOTICE DE MONTAGE POUR PORTE-BAGAGES ET PARE-BOUE
ES 	 INSTRUCCIONES DE MONTAJE DE PORTAEQUIPAJES Y GUARDABARROS
IT 	 ISTRUZIONI PER IL MONTAGGIO DEL PORTAPACCHI E DEL PA RAFANGO
NL 	 ASSEMBLAGE-INSTRUCTIES BAGAGEDRAGER EN SPATBORDEN

CARRIER+FENDER 
GEPÄCKTRÄGER+SCHUTZBLECH
PORTE-BAGAGES+PARE-BOUES 
PORTABULTOS+GUARDABARROS 
PORTAPACCHI+PARAFANGO
BAGAGEDRAGER+BESCHERMPLAAT

THRON+THRON2



2THRON + THRON2  ––  CARRIER + FENDER ASSEMBLY

CARRIER+FENDER 
GEPÄCKTRÄGER+SCHUTZBLECH
PORTE-BAGAGES+PARE-BOUES 
PORTABULTOS+GUARDABARROS 
PORTAPACCHI+PARAFANGO
BAGAGEDRAGER+BESCHERMPLAAT

THRON+THRON2



3THRON + THRON2  ––  CARRIER + FENDER ASSEMBLY

1CARRIER ASSEMBLY

EN 	 Mount carrier to the rear triangle of the Thron with 4x Screw DIN7984 M6x20 with washer 
	 ISO 7091 - 6, Use 18Nm Torque. (Use thread lock medium on all screws)

DE 	 Träger am hinteren Dreieck des Throns mit 4x Schraube DIN7984 M6x20 mit Unterlegscheibe befestigen 
	 ISO 7091 - 6, Drehmoment 18 Nm verwenden. (Verwenden Sie Schraubensicherungsmittel für alle Schrauben)

FR	 Montez le porte-bagages au triangle arrière du Thron à l’aide de 4 vis DIN7984 M6x20 avec rondelles 
	 ISO 7091 - 6, Appliquez un couple de 18Nm. (Appliquez du frein de vis sur toutes les vis)

ES	 Monte el portabultos en el triángulo trasero de Thron con 4 tornillos DIN7984 M6x20 
	 con arandela ISO 7091 - 6, utilice un par de 18Nm. (Utilice un sellador de 
	 rosca en todos los tornillos)

IT	 Montare il parafango sul triangolo posteriore di Thron con 
	 4 viti DIN7984 M6x20 con rondella ISO 7091 - 6, applicare 
	 una coppia da 18Nm. (Utilizzare un frenafiletti medio 
	 su tutte le viti)

NL	 Bevestig de drager aan de achterste driehoek van de 
	 Thron met 4x schroef DIN7984 M6x20 met sluitring 	
	 ISO 7091 - 6, Use 18Nm Torque. (Gebruik 
	 schroefdraadborgmiddel voor alle schroeven)



4THRON + THRON2  ––  CARRIER + FENDER ASSEMBLY

2FRONT FENDER ASSEMBLY

EN 	 For front fender assembly please check the manual from your fork supplier.
DE 	� Für die Montage des vorderen Schutzblechs lesen Sie bitte die Anleitung Ihres Gabelherstellers.
FR	 Pour le pare-boue avant, reportez-vous au manuel de votre fournisseur de fourche.
ES	 Para el montaje del guardabarros delantero, consulte el manual de su proveedor de horquillas.
IT	 Per il gruppo parafanghi anteriori, consultare il manuale del proprio fornitore della forcella.
NL	 Lorem ipsum dolor sit amet, consetetur sadipscing elitr.

REAR FENDER ASSEMBLY

EN 	 Mount Fender to the Carrier and the rear triangle of the thron with 
	 3x screw DIN 7984 M5x10 with washer ISO 7091 - 5, Use 5Nm Torque.
	 (Use thread lock medium on all screws)

DE 	 Schutzblech mit 3x Schraube am Träger und am hinteren Dreieck des Throns 
	 befestigen DIN 7984 M5x10 mit Unterlegscheibe ISO 7091 - 5, Anzugsmoment 5 Nm.
	 (Verwenden Sie Schraubensicherungsmittel für alle Schrauben)

FR	 Montez le pare-boue sur le porte-bagages et le triangle arrière du Thron à l’aide 
	 de 3 vis DIN 7984 M5x10 avec des rondelles ISO 7091 - 5, Appliquez un couple de 5Nm.
	 (Appliquez du frein de vis sur toutes les vis)

ES	 Monte el guardabarros en el portabultos y en el triángulo trasero de Thron 
	 con 3 tornillos DIN 7984 M5x10 con arandela ISO 7091 - 5, utilice un par de 5Nm.
	 (Utilice un sellador de rosca en todos los tornillos)

IT	 Montare il parafango sul portapacchi e il triangolo posteriore della thron 
	 con 3 viti DIN 7984 M5x10 con rondella ISO 7091 - 5, Applicare una coppia da 5 Nm.
	 (Utilizzare un frenafiletti medio su tutte le viti)

NL	 Bevestig het spatbord aan de drager en de achterste driehoek van de thorn 
	 met 3x schroef DIN 7984 M5x10 met sluitring ISO 7091 - 5, Use 5Nm schroefdraad.
	 (Gebruik schroefdraadborgmiddel voor alle schroeven)



5THRON + THRON2  ––  CARRIER + FENDER ASSEMBLY



6THRON + THRON2  ––  CARRIER + FENDER ASSEMBLY

Legal Base:

Derby Cycle Werke GmbH
Siemensstraße 1-3
49661 Cloppenburg
Germany

FOCUS BIKES
Rotenwaldstraße 158
70197 Stuttgart
Germany 

Telefon: +49 (0)4471 966-401745
Telefax: +49 (0)4471.966-210
E-Mail: info@focus-bikes.com
www.focus-bikes.com

EN	 Subject to misprints, errors and 
	 technical alterations.

DE	 Druckfehler, Irrtümer und technische 
	 Änderungen vorbehalten.

FR	 Sous réserve d‘erreurs d‘impression, d‘erreurs 
	 et de modifications techniques.

ES	 Sujeto a posibles erratas, errores y 
	 modificaciones técnicas.

IT	 Con riserva di errori, refusi e 
	 modifiche tecniche.

NL	 Onder voorbehoud van drukfouten, 
	 fouten en technische wijzigingen.


